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CHAPTER OBJECTIVE
Chapter 20 consists of three major sections. The first section examines global control system and performance evaluation of foreign operations. Accurate financial data and an effective control system are especially important in international business where operations are typically supervised from a distance. The second section considers the significance of national tax systems on international business operations. Perhaps multinational taxation has the most pervasive effect on all aspects of multinational operations. Where to invest, how to finance, and where to remit liquid funds are just a few examples of management actions affected by multinational taxation. The third section covers international transfer pricing. Because transfers between business entities account for approximately one-third of total world trade, the multinational company must try to satisfy a number of objectives. This chapter examines some of these objectives, such as taxes, tariffs, competition, inflation rates, exchange rates, and restrictions on fund transfers.

KEY TERMS AND CONCEPTS

Balance sheet measures the assets, liabilities, and owners' equity of a business at a particular time.

Income statement matches expenses to revenues in order to determine the net income or net loss for a period of time.

Return on investment relates enterprise income to some specified investment base such as total assets.

Foreign Corrupt Practices Act (FCPA) is a US law that makes it illegal for American companies and managers to make payments to foreign government officials for the purpose of obtaining business.  

Direct taxes include corporate income taxes and capital gains taxes.

Indirect taxes include value-added taxes, tariffs, and withholding taxes.

Capital gains and losses are gains and losses on sales of capital assets.

Value-added taxes are a special type of sales taxes.

Tariffs are simply taxes assessed on imported goods, which parallel excise and other indirect taxes paid by domestic producers of similar goods.

Withholding taxes are those taxes imposed by host governments on dividend and interest payments to foreign investors and debt holders.

Neutral tax is one that would not affect the location of the investment or the nationality of the investor.

Foreign tax credit is established to avoid international double taxation when profits earned abroad become subject to the full tax levies of two or more countries.

Tax havens are those countries that offer strict bank-secrecy laws and zero or low taxation in order to attract foreign investors and depositors.

Foreign trade zone (FTZ) is an enclosed area where domestic and imported merchandise can be stored, inspected, and manufactured without being subject to formal customs procedures until the goods leave the zone.

Transfer prices are prices of goods and services bought and sold between parent companies and subsidiaries.

ANSWERS TO END-OF-CHAPTER QUESTIONS
1.
Explain two major problems that make multinational accounting complicated. 

First, multinational companies face different economic conditions because they operate in many countries. Thus, satisfactory accounting practices in one country may not be satisfactory in other countries. Second, multinational operations have many special problems in accounting, such as transfer pricing, taxes, and varying rates of inflation.

2.
Why are budgets and the return on investment in performance evaluation systems more frequently used than any other indicators?

Budgets and the return on investment are used by many multinational companies in their performance evaluation systems because they are financial in nature. More specifically, these measures are most frequently used because a company’s headquarters executives are familiar with these indicators as they are used domestically and they are relatively easy to determine and administer.

3.
Discuss centralization vs. decentralization as it impinges on decisions relating to transfer pricing and performance evaluation, exchange exposure management, acquisitions of funds, positioning of funds, and tax planning.

Both centralization and decentralization carry advantages. However, the ultimate choice of a particular organizational structure depends largely upon the types of decisions one must make: (1) transfer pricing and performance evaluation, (2) tax planning, (3) exchange exposure management, (4) acquisition of funds, and  (5) positioning of funds. First, transfer pricing decisions made to minimize taxes may ruin the performance evaluation system for foreign subsidiaries. Consequently, many companies tend to control transfer pricing policies from a centralized vantage point rather than from a regional viewpoint. Second, the centralized organization usually works well to minimize worldwide taxes. Third, most companies centralize their foreign exchange exposure management because it is difficult for regional or country managers to know how their foreign exchange exposure relates to other affiliates. Fourth, many multinational firms borrow money from local sources for their working capital. On the other hand, cheap sources of funds depend upon alternatives in all capital markets and the cost of exchange gains of losses. Regional managers can hardly know all alternative sources of funds outside a local market. Fifth, positioning funds involves paying dividends and making intracompany loans, thereby reducing consideration of total corporate tax liabilities, foreign exchange exposure, and availability of capital. 

4.
What is the Foreign Corrupt Practices Act? What are the two sections of this law?

The Foreign Corrupt Practices Act of 1977 is a US law which has made foreign bribes illegal. The two sections of this law are the antibribery section and the accounting section. The antibribery section has made it a criminal offense for US companies to corruptly influence foreign officials. The accounting section requires US companies to keep books and to maintain a system of internal accounting controls. 

5.
Why is taxation one of the most important variables in multinational operations?

Taxation is one of the most important variables in international operations because it has a pervasive influence on all aspects of multinational operations, such as the choice of location in the investment decision, the form of the new enterprise, method of finance, and method of transfer pricing. 

6.
In what general ways do countries differ with regard to their tax systems?

Countries can differ in their direct and indirect taxes. Direct taxes include corporate income and capital gains taxes. Indirect taxes include value-added taxes, tariffs, and withholding taxes. In addition to these direct and indirect taxes, multinational companies may face different property taxes, payroll taxes, stamp and registration taxes, taxes on registrations of agreements of various types, sales and excise taxes, and taxes on undistributed earnings. 

7.
Explain tax morality from viewpoints of both multinational companies and host governments.

The issue at stake from the viewpoint of multinational companies is the conflict between profits and corporate morality. Tax morality has to do with the question of whether multinational companies should comply fully with the tax laws or evade taxes to the same extent as their competitors. Host governments also have similar moral problem. Two basic principles are that taxes should be equitable and neutral. Nevertheless, many countries impose some arbitrary tax penalties on multinational companies.

8.
What is double taxation? How can its effect be lessened? 

Double taxation results when profits earned abroad become subject to the full tax levies of two or more countries. There are a variety of methods to eliminate or reduce double taxation. First, tax treaties between nations are used to eliminate or reduce double taxation. Second, double taxation is mitigated by foreign tax credit. For example, under the foreign tax credit system the United States relinquishes tax on  profits earned abroad up to the amount of the foreign tax. Third, tax haven countries promote permanent tax inducements in order to attract multinational companies. Funds can be transferred in and out of these tax havens tax free. Fifth, the tax on foreign source income is usually postponed until the parent company actually receives the income.

9.
List some key objectives of transfer pricing policies.

Transfer pricing has the following four key objectives: income tax minimization, import duty minimization, avoiding financial problems, and adjusting for currency fluctuations.

10.
Is it possible for a multinational company to minimize both income taxes and import duties simultaneously?

It is practically impossible for a multinational company to achieve all transfer pricing objectives at the same time because multiple objectives will conflict. For example, a lower transfer price reduces import duties, but it increases income taxes. A higher transfer price reduces income taxes, but it increases import duties. Income tax minimization (import duty minimization) is easy, but import duty reductions (income tax reductions), which have offsetting effects, may complicate it. Also, a country with low import duties may have high income taxes, while a county with high import duties may have low income taxes.

11.
How do multinational companies use transfer prices to avoid financial problems faced by their subsidiary?

Financial restrictions, such as exchange controls and blocked funds, are avoided by increasing the transfer price of goods shipped into the country. Low transfer prices can be used to channel profits into a financially troubled subsidiary to bolster its financial condition, thus presenting a favorable profit picture to satisfy earnings criteria set by foreign lenders. 

ANSWERS TO END-OF-CHAPTER PROBLEMS
1a.
Impact of Currency Fluctuations on AT&T's Profits
___________________________________________________________________

                                                   Yen                      Mark                    Yen and Mark

                                    Budget   Appreciate 10%   Appreciate 10%   Appreciate 10%

Sales                              4,000                   4,200                  4,000                   4,200

Cost of goods sold         3,000                   3,000                  3,120                   3,120
   Gross margin              1,000                   1,200                     880                   1,080

Depreciation                     400                      400                     400                      400
  Operating income           600                      800                     480                      680

Interest expenses              200                      200                     200                      200
   Profit  before taxes        400                      600                     280                      480

Taxes (50%)                     200                      300                     140                      240
  Profit after tax                200                      300                     140                      240         

1b.
A 10-percent appreciation in the yen (the revenue currency) raises AT&T's profits by $100 ($300 - $200) under the condition that the mark's value remains constant.  

1c.
A 10-percent appreciation in the mark (the cost currency) reduces AT&T's profits by $60 ($200 - $140) unless its selling prices are adjusted to reflect the increase in costs. 

1d.
If selling prices and costs are adjusted to reflect the 10-percent appreciation in both currencies, AT&T's profits increase by $40 ($240 - $200).

2a. and 2b.

                                       Parent                 Subsidiary

Revenues                       $4,980                  $3,520

Rent income                                                    200

Dividend income                250

Expenses                         4,160                    2,960
Net income                    $1,070                  $  760

2c.
Sales by the subsidiary to unrelated party     $3,200

Cost of inventory to the parent                        1,500
Consolidated profit on the sale                      $1,700

2d.


_____________________________________________________

                                                                   Adjustment/Elimination






Parent

 Sub.
  Debit     Credit   Consol.

Cash




   180

     80





   260

Accounts receivable
   380

   200



  70
   510

Accounts payable

   245

   110

70



   285

Retained earnings

   790

   680



250
1,220

Revenues



4,980

3,520
 2,200



6,300

Rent income





   200
    200




 0

Dividend income

   250



    250




 0

Expenses



4,160

2,960



200












 2,200



4,720

3.
The domestic tax liability of $100 is computed as follows:

Foreign income                  $1,000

Foreign tax (40%)                   400
Net income after tax            $  600

                                         ======

Domestic taxable income   $1,000

                                         ======

Domestic tax (50%              $  500

Foreign tax credit                    400
Domestic tax payable          $  100

                                         ======


Foreign and domestic taxes $  500

                                         ======

Effective tax rate                    50%

                                         ======

4.
The following computation shows that the effective tax rates of the company are 75 percent under the credit and 50 percent under the deduction. 

                                    Foreign Tax Credit   Foreign Tax Deduction

Foreign income


$1,000


$1,000

Foreign tax (50%)


     500 

     500
Net income after tax


     500


     500





===== 

=====

Domestic taxable income



$1,000




$   500




            ===== 

=====

Domestic tax (50%)


$   500


$   250

Foreign tax credit


     500


         0
Domestic tax payable




$       0




$   250





===== 

=====

Foreign and domestic taxes

$   500


$   750





===== 

=====

Effective tax rate


    50%


    75%





===== 

=====

5.

                               

Double Tax   Deduction        Credit            

Foreign income

$100

$100

$100

Foreign tax (40%)

    40

    40

    40
Income after foreign tax
$  60

$  60

$  60

US tax (35%) on $100
 
   35

US tax  (35%) on $60



    21

US tax on  $100 less

Foreign tax on $100





      0

Foreign and US taxes

$  75

$  61

$  40

6.


Seller       Value Added    Tax    Purchase Price  Selling Price

Extractor       $300          $30          $   0                 $330

Processor        500            50            330                  880

Wholesaler       75              7.5         880                  962.5

Retailer            75               7.5         962.5            1,045

7.
Tax Effect of Low versus High Transfer Price
                                                         Low Tax   High Tax  
Combined

                                                       
A              B           
 A + B   


Low Transfer Price

Sales price


$3,000

$4,400

$4,400

Cost of goods sold

  2,000 
  3,000 
  2,000
Gross profit


$1,000

$1,400

$2,400

Operating expenses

     200 
     200 
     400
Earnings before taxes

$   800

$1,200

$2,000

Taxes (30%/50%)

     240 
     600 
     840

Net income


$   560 
$   600

$1,160

High Transfer Price
Sales price


$3,600

$4,400

$4,400

Cost of goods sold

  2,000

  3,600

  2,000
Gross profit


$1,600

$   800

$2,400

Operating expenses

     200

     200

     400
Earnings before taxes

$1,400

$   600

$2,000

Taxes (30%/50%)

     420

     300

     720
Net income


$   980

$   300

$1,280

Earnings before taxes for Eurowide Corporation are the same at $2,000 despite the different prices at which the products transfer from A to B. Still, the higher transfer price reduces total taxes by $120 ($840 - $720) and increases the consolidated net income by the same amount ($120 = $1,280 - $1,160). 

8.         Tax-Plus-Tariff Effect of Low versus High Transfer Price
                                               Low Tax        High Tax      Combined

                                                     A                  B                  A + B     

Low Transfer Price

Sales price


$3,000

$4,400

$4,400

Cost of goods sold

  2,000

  3,000

  2,000

Import duty (10%)

     -     

     300 
     300
Gross profit


$1,000

$1,100

$2,100

Operating expenses

     200

     200

     400
Earnings before taxes

$   800

$   900

$1,700

Taxes (30%/50%)

     240

     450

     690
Net income


$   560

$   450

$1,010

High Transfer Price 

Sales price


$3,600

$4,400

$4,400

Cost of goods sold

  2,000

  3,600

  2,000

Import duty (10%)

     -     

     360

     360
Gross profit


$1,600

$   440

$2,040

Operating expenses

     200 
     200

     400
Earnings before taxes

$1,400

$   240

$1,640

Taxes (30%/50%)

     420

     120

     540
Net income


$   980

$   120

$1,100

Under the lower transfer price, import duties of $300 are paid. Affiliate B's taxes will decline by $150 because tariffs are tax deductible. Total taxes plus tariffs paid are $990. Switching to the higher transfer price raises import duties to $360 and simultaneously reduces affiliate B's income taxes by half that amount or $180. Total taxes plus tariffs paid are $900. The higher transfer price is still desirable, but its benefits have been reduced by $30 to $90 (See the solution for problem 1: benefits of $120 without tariffs minus $30).

9a.
If IBM switches its transfer price from $2,700 to a new transfer price P, it will realize monthly tax savings of 1,500($2,700 - P)(0.45 - 0.50). Tax savings are maximized when IBM uses the highest possible transfer price of $3,000. In this case, IBM will switch profits from Germany with a tax rate of 50 percent to Canada with a tax rate of 45 percent.  

9b.
We assume that import duties paid by the German subsidiary are tax deductible. Thus, if IBM switches its transfer price from $2,700 to a new transfer price P, it will realize  monthly tax savings of 1,500($2,700 - P)[(0.45 + 0.15 - 0.50) (1.15)]. In order to maximize tax savings, IBM should adopt the lowest possible transfer price of $2,500.

10a.
In this case, Ford Motor can remove funds from Mexico by charging higher prices on trucks sold to the Mexican subsidiary. The policy of the low transfer price results in a cash transfer of $2.7 million per month (100 trucks x $27,000 per truck) from Mexico to the United States. The use of the highest possible transfer price ($30,000 per truck) causes an additional $300,000 of cash per month ($30,000 x 100 - $2,700,000) to move from Mexico to the United States. If it were desirable to transfer funds out of the Mexican subsidiary, the high transfer-price policy would achieve this purpose.

10b.
Transfer prices can also channel funds into a subsidiary to improve its financial condition by charging lower prices on goods sold to that subsidiary. Ford Motor will be able to bolster its subsidiary' financial condition most by using the lowest possible transfer price of $25,000 per truck. 

ANSWERS TO END-CASE QUESTIONS
The overall issue of this case is conflict of interest as reflected by two separate episodes. In episode I, the conflict is between management and shareholders. Thomas Nickerson, Special Assistant to the Vice President of Finance, faces a serious ethical dilemma regarding management's desire for short-term profit and personal gain. He must analyze his options when management proposes an undesirable acquisition for questionable reasons. In episode II, the conflict is between sales growth and the code of business conduct. Sam Miller, Vice President of Marketing, is under heavy pressure to increase his company's overseas sales by 30 percent per year amid a strong competition from major computer companies. Nevertheless, he may have to recommend terminating a contract with a major overseas distributor whose business practice appears to clash with the letter of the code. 

1.
Use the data in Table 20-4 to estimate the market value of Computer Engineering in the following three ways: (1) price-earnings ratio, (2) market value/book value, and (3) dividend growth model. 

Among many available methods of valuation, the commonly used ones are price-earnings ratio, market value/book value, dividend growth model, capitalization of earnings, and the use of comparables. Some appraisal consulting companies as well as courts advocate the use of a weighted average of the fair values from the above and other methods. We use the first three methods along with High Tech (HT) as a reference company to compute the per share price (PSP) of Computer Engineering (CE). 
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Because Computer Engineering has 1 million common shares outstanding, its market value ranges from as high as $16 million to as low as $7.5 million. Advanced Technology offered to buy Computer Engineering for 2 million shares of its stock at a time when the stock was selling for $20 a share, thereby making the total purchase price of Computer Engineering $40 million. Although it is an exchange of stock, top executives of Advanced Technology could still benefit because they will own more valuable stock. Analysis of Computer Engineering should show that by virtually any valuation method, the acquisition does not make finance sense. A premium ranging from $32.5 million to $24 million over the value of Computer Engineering is being paid to the shareholders of the company. Thus, the proposed acquisition will significantly dilute the value of all current Advanced Technology shares. 

2.
List and discuss options available to Thomas Nickerson.

Thomas Nickerson has the following three options: First, he can prepare a favorable but perhaps misleading or deceptive report on the acquisition. Second, he can refuse to write a favorable report on the acquisition and accept the possibility of dismissal. Third, he can "blow the whistle" by sending a letter to the "outside" director.  

3.
Discuss two major sections of the FCPA: antibribery and accounting.

The antibribery section was the first piece of legislation in the US history making it a criminal offense for US companies to corruptly influence foreign officials or to make payments to any person when they had "reason to know" that part of these payments would go to a foreign official. The accounting section establishes two interrelated accounting requirements. First, public companies must "keep books, records, accounts, which, in reasonable detail, accurately and fairly reflect the transactions and dispositions" of their assets. Second, corporations are  required to "devise and maintain a system of internal accounting controls sufficient to provide reasonable assurance" that transactions have been executed in accordance with management's authorized procedures or policies. Congress concluded that the antibribery and accounting sections would effectively prevent payments of foreign bribes and off-the-book slush funds. Penalties for violations include fines of up to $2 million for corporations and $100,000/or five years in jail for individuals.

4.
List and discuss pros and cons concerning corporate codes of conduct.


Proponents of the FCPA contend that if US companies are allowed to corrupt foreign officials, in all likelihood they would wish to do the same in the United States. The FCPA has encouraged US companies to introduce corporate policies against corrupt foreign payments and to improve internal controls because the FCPA bans illegal payments to foreign officials, and levies heavy penalties for violations. Numerous surveys found that most US companies had undertaken positive steps to prevent illegal payments to foreign officials and to improve internal controls. Corporate codes of conduct may be useful to: (1) communicate a desirable corporate culture; (2) orient new employees to company values; (3) create a clear direction in decentralized firms; (4) improve a company's public image in the eyes of both society and regulatory agencies; and (5) protect top management from accusations of knowingly allowing employee misconduct. Corporate codes of conduct could be useless or even harmful because they may: (1) be difficult to enforce; (2) compel companies to sacrifice competitiveness; (3) lead to penalties for employees who follow guidelines but sacrifice profits in doing so; and (4) be costly to develop and implement. 

5.
If you were Sam Miller, what would you do about the situation in these South American countries?
 

Kevin Hart, a major South-American distributor for Advanced Technology products, obtained lower customs duties through bribery. When he was asked to comply with the company code of conduct, he declined on the ground that it would place him at a competitive disadvantage. Advanced Technology code of conduct prohibited the company from using distributors who engaged in bribery. In addition, the company would violate the FCPA if it had reason to know that one of its agents was bribing foreign officials to obtain business.


Sam Miller might argue that in these South American countries, bribery should be allowed because (1) it is customary; (2) business gets done: (3) no one is hurt; and (4) people in general benefit. Or he might argue that bribery is simply wrong and Advanced Technology should refuse to renew Kevin's contract unless he agrees to abide by the code. 

6.
The Internet Center for Corruption Research provides the transparency international perceptions index and a comprehensive assessment of country's integrity performance. Use the website of this organization--www.gwdg.de/~uwvw/icr.htm--to identify the five most corrupt countries and the five least corrupt countries.
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